Junior problems

J301. Let a and b be nonzero real numbers such that ab > le + % + 3. Prove that

Proposed by Titu Andreescu, University of Texas at Dallas, USA

Solution by Arkady Alt, San Jose, California, USA
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Also solved by Himansu Mookherjee, Kolkata, India; Radouan Boukharfane, Morocco; Daniel Lasaosa,
Pamplona, Spain; David Yang, Bergen County Academies, NJ, USA; Debojyoti Biswas, Kolkata, India; Eliott
S. Kim, The Lawrenceville School, NJ, USA; Jaesung Son, Ridgewood, NJ, USA; Jishnu Bose,Indian Statis-
tical Institute, Kolkata, India; Kevin Ren; Corneliv Manescu-Avram, Transportation High School, Ploiesti,
Romania; Nicusor Zlota, “Traian Vuia” Technical College, Focsani, Romania; Paolo Perfetti, Universita
degli studi di Tor Vergata Roma, Roma, Italy; Peter C.Shim, Pingry School, Basking Ridge, NJ, USA;
Woosung Jung, Korea International School, South Korea; Hyunseo Yang, Daecheong Middle School, Seoul,
South Korea; Joshua An, Washington University in St. Louis, MO, USA; Yeonjune Kang, Peddie School,
Hightstown, NJ, USA; Seung Hwan An, Taft School, Watertown, CT, USA; Joe Hong, Seoul International
School, South Korea; Seong Kweon Hong, The Hotchkiss School, Lakeville, CT, USA.
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